Kuta Software - Infinite Algebra 2 Name

Double- and Half-Angle Identities Date
Use a double-angle identity to find the exact value of each expression.
1) sin 120° 2) tan 60°
4w 5w
3) cos— 4) sin—
3 3

Use a half-angle identity to find the exact value of each expression.

5) tan 45° 6) sin 165°

. 8) cos 30°
7) sm?

Use a double-angle or half-angle identity to find the exact value of each expression.

2
9) cot & 10) cot =~
3 3

5 12 t 60°
11) secl—Tzc ) co

13) cot 240° 5
) co 14) CotTn

Period



7 1
15) sin Bz—E and 270° < 8 < 360° 16) cos 925 and 0° < 8 < 90°

. o Find sin 26
Find cos —
2
4 o o N5
17) cos Bzg and 270° < 8 < 360 18) cos @ = and 0° < 8 < 90°
Find sin 26 P2
Find sin —
2
4 15
19) cos Bz—g and 90° < 4 < 180° 20) cos 92_? and 180° < @ < 270°
Find sinﬁ Find tanﬁ
2 2
7 3 4
21) tanHz——and—n<49<2n 22) cott9:—and7t<6?<3—7E
24 2 3 2
. 0 Find sin 26
Find cot —
2
4 3r T
23) cot6’=§andn<0<7 24) tan0=2and0<0<5
Find cot 26 . )
Find sin —
2
. 3 3n A 91
25) s1n0=—gand7<6’<27t 26) Cotez—%and%<9<2’n

o
Find tan E Find sin f
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Double- and Half-Angle Identities Date
Use a double-angle identity to find the exact value of each expression.
1) sin 120° 2) tan 60°
V3 V3
2
4 5
3) cos hild 4) sin—7t
3 3
1 3
2 2

Use a half-angle identity to find the exact value of each expression.

5) tan 45° 6) sin 165°
1 N6 -2
4
. 8) cos 30°
7) sin—
° N3
1 2
2

Use a double-angle or half-angle identity to find the exact value of each expression.

2
9) cot = 10) cot =~
3 3
V3 3
3 3
5 12) cot 60°
11) sec—Tc ) co
12 V3
A6 +42 3
13) cot 240° 5
) co 14) cot &
V3 ’
3 A3

Period



7
15) sin 8 = Y] and 270° < 8 < 360°

Find cos ﬁ
2

2

10

4
17) cos 8 = g and 270° < 6 < 360°
Find sin 26

24
25

4
19) cos @ = —g and 90° < 4 < 180°
Find sinﬁ
2

10

10

7 3
21) tan 0:——and—n< 0<2rn
24 2
. [
Find cot —
2

—7

4
23) cot =+ and < <L
3 )

Find cot 26

7
24

33
25) sinﬁz—gand%<6’<2n

o
Find tan —

L
3

1
16) cos Bzgand0°<0<90°

Find sin 26

N

9

NS
18) cos 8 = and 0° < 8 <90°

Find sin ﬁ
2
\50 - 2005

10

15
20) cos 6 = _E and 180° < @ < 270°
Find tan ﬁ
2

—4

4
22) cot @=—and 7t < 6’<3—TC
3 2
Find sin 26

24
25

24) tan 6 =2 and 0 < e<§
Findsing
2

\50— 1075

10

o1 3m

26) cot @=——and—< 0 <2x
91 2
Find sing
2

/35

10



